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i— ~ (a) In the Internet architecture, what is the DNS? (5%)

(b) Summarize the distinction between cluster computing and grid com};uting. (5%)

: + For the World Wide Web,
| (a) What is a URL? (5%)
(b) Describe the relationship of browser, user, and hypertext. (5%)

E ~ In C program, ;
(a) What is the advantage of using shift operation to replace multiply/Division operation?:
An example is shown in the following. (5%) ‘

1. intk=6;
2. k=k<<1;, [/k*=2;

(b) Can you write a statement to replace line 2 in the following block? The available%
operators are: <<, >>, (), =, and +. (5%) '

1. intk=6;
2. k=k*5/2;




[ZQ + How JPEG’s baseline standard (also known as JPEG’s lossy sequential mode) takes%

advantage of human eye’s limitations to produce compression? (10%)

17~ In object-oriented programming languages,
(a) What is a constructor? (5%)
(b) Why are some items within a class designated as private? (5%)

7L\ + What is the amplifier efficiency? Please list it with Py (power supply), P (source power),g
; P. (load power), and Pg;ss (power dissipated in amplifier). (5%) :

t - For the input-output characteristic of a digital logic inverter as shown in the followingi
figure, please list the noise margin for high input NMy and the noise margin for low input;
NML. (5%) :
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./_~ Use the superposition principle to find the output voltage of the circuit shown in the!
following figure. (10%) :

.................................................................................................................................................




171, ~ Find the peak inverse voltage (PIV) in the following bridge rectifier with a diode voltage
dI‘Op Vpo. (1 O%) :

o

+ « If an n-channel MOSFET operates in the triode region, calculate the linear resistance RDS§
obtained for a device having k,’ = 100 pAsz and W/L = 10 when operated with an|

overdrive voltage Voy of 0.5 V. (10%)

:g—i‘-——- + Fora BJT,
(1). P lease list 4 possible operation modes. (5%)
(2). In the 4 possible operation modes, please point out its 0
Reverse) in the two junctions (EBJ and CBI). (5%)

perational status (Forward or |




